Name

AP Calculus (Chapter 4 Test Review)

1. Evaluate the integral: [(3x® —2x’ +5) dx.

3 2

(A] 25 254 [B] 9x% —4x+C (€] 2x' =25 +504C
4" 3 4 3

[D] 9x* -8x* +60x +C [E] None of these

2. Evaluate the integral: [(ax +5) dx.

[A] 23 +bx+C B] 2 1+ (€] Lx? +bx
2 2 2
[D]a+C [E] None of these
3
3. Evaluate the integral: J = TF
X
3
5 e [B] x*+3x4C [C] 2x+C
X
x3
[D] Yy +x+C [E] None of these
3/2
4. Evaluate the integral: f3+4x dx.
Jx
3 .
[A] 6¥x +2x? +C [B] %w/;+2x2 +C [C] -——2~x‘3’2+4 +C
[D] %x” +2x* +C [E] None of these

5. Use a(f) = -32 ft/s? as the acceleration due to gravity. A ball is thrown vertically upward
from the ground with an initial velocity of 96 feet per second. How high will the ball go?

[A] 144 feet  [B] 24 feet [C] 64 feet [D] 32 feet  [E] None of these
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AP Calculus (Chapter 4 Test Review)

An object has a constant acceleration of 72 feet per second squared, an initial velocity of 17
feet per second, and an initial position of 10 feet. Find the position function describing the
motion of this object.

[A] s=722 +10 [B] s =362+ 27 [C] s=362+17t+10
[D] s=722+ 17t + 10 [E] None of these

The rate of growth of a particular population is given by Z—P = 5062 — 100632, where P is
!

the population size and  is the time in years. The initial population is 25,000. Find the
population function. Then use a graphing utility to graph the function, and then use the
graph to estimate how many years it will take for the population to reach 50,000.

[A] 15.7 [B] 38.4 [C]2 [D] 145 [E] None of these

Identify the sum that does not equal the others.

[A] z (3k-2) [B] % (Gn+1) €1 X G/-9)
[D] i (i+2) [E] None of these

v Nid
Let s(n) =3 ( 1+ i] (lJ Find the limit of s(%) as n — oo.
t=1

n)\n
17 10 7 5
Al — — C] - D] = E] None of these
[A] > [B] 3 [C] 3 [D] = [E]
: sz " 8i—n
Find the limit of s(n) as n > w. s(n) =Y —
i=1 n

[A] 8 [B] 9 [C]14 [D]5 |E] None of these

Use the properties of sigma notation and the summation formulas to evaluate the given sum:

10
S (P43 -2).
i=]

[A] 128 [B] 530 [C] 915 [D] 126 [E] None of these
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AP Calculus (Chapter 4 Test Review)

Use the Fundamental Theorem of Calculys to evaluate [, (1- 2x) dx.

[AT2  [B] -2 [Cl16 D] -6 [E] None of these
Find the average value of Sx) =2x2 + 3 on the interva [0, 2].

22
[A] 3 (Bl 4 [C] 27 [D] 131 [E] None of these

Evaluate the integral: Jx*(x* +5)° g,

1 373 7
Al —(x*+5) + ¢ X +5)" Loz, a7 0 -
[A] 5] % 9" +C [B] s~ +C [C] 2 +5)" +C
o x* i
[D] ?(—4—+5xJ +C [E] None of these

Use the general power rule to evaluate the integral: [x+/8—4x2 dx.

2
[A] §(8—4x2)3/2 +C [B] —-‘;—(8~4x2)3’2 +C [C] __%(8_4x2)3/2 +C

1
[D] - 5(8—4x~’-)3’2 +C [E] None of these

Use the general power rule to evaluate the integral: | xV4-9x? dx,

2 = 4 ] 2372 v
Al —(4-9x*"? + C B] ——@-9x)" 4+ ¢ Cl —(@4-9x)*"? + ¢
[]3( x7) [B] 27( x°) 1C] 27( )

[D] - 318(4 -9x%)"? 4+ [E] None of these
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AP Calculus (Chapter 4 Test Review)

: 1
17. Evaluate the integral: JJ_EI—:I dx.
S 1 - 1
[A] V2x+1 +C [B] EJELHC [C] mw
D] Vxl+x +C [E] None of these
18. Evaluate the integral: |[cos3x dx:
[A] —sin ;xz +C [B] —sin3x + C [C] % sin 3x + C
[D] sin3x+C [E] None of these
19. Evaluate the integral: [x~/1-x dx.
[A] —%z(lﬂc)” +€ [B] 22_li§ +C [C] 532—(1—303’2 +C
[D] —%(2 +3x)(1-x)"? +C [E] None of these

. 5
20. Evaluate the integral: | ———— gx.
x+2

[A] S(x~4InVx+2) +C  [B] %QJ}TE(x-n +C [Q] %(x—4lnw/x+2) +C
(D] %Ji +2(x-4)+C  [E] None of these

3

21. Use the Trapezoidal Rule, with n = 4, to approximate J (_-_IF dx
) (x—

[A] 0.5090  [B] 25000 [C] 1.7396  [D] 0.5004  [E] None of these
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AP Calculus (Chapter 4 Test Review)

Differentiate: y = 3% .
3 4]
3 3 _ 2_3 — y2
Al —5 [B] = [ = I ’2‘3 [E] None of these
I x 2x (1+x7) (1+x7)

Find f'(x): fix) = 3x* — 6x3 + 3x — 2.
[A] 3x% — 6x3 + 3x [B] 12x3 — 18x2 +3 [C] 3x3 —6x2 +3
[D] 12x3 - 18x2 +3x -2 [E] None of these

Find /(0 f()=>
x

[A] 1—% [B] 2x;3 [C] S [D] iz [E] None of these
x x

Find all critical numbers for the function: f{x) = (9 —x2)3/5.
[A] 3,3 [B] -3,0,3 [C] 0 [D]3 [E] None of these

1

Find the domain of f(x) =

3-2x
3 3Y(3 3
" (5) o (=3)(3e) (=)
[D] [-2?1 oo) [E] None of these

Find all points of intersection of the graphs of x2 + 3x —y =3 and x + y = 2.
[A] (=5,-3),(1, 1) [B] (-5,7),(1, 1) [C] (0,-3),(0,2)
[D] (5,-3),(1, 1) [E] None of these

Find f'(x) for fix) = (2x2 + 5).
[A] (4x)7  [B] 7(4x)® [C] 28x(2x2+5)® [D] 7(2x2+5)®  [E] None of these
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